SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)

SUBJECT: ENGLISH TEXT
STD : VIII MARKS: 60
DATE : 23-10-2024 TIME: 2.00 hrs.

INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION-A (OBJECTIVE)
Q.1. (A) Choose the correct answers from the given options: (0.5x6=3)
1.  What did the author find in a junk shop?
a) Roll top chair b) Roll top desk
c) Roll top drawer d) Roll pie
What was the policeman doing on the streets?
a) Standing outside the restaurant b) Patrolling
c) Looking for cab d) Vacant the street
‘But the surprise now must be small” means ....
a) the play has no suspense at all.
b) the suspense of the play is rather lost.
c) the suspense of the play is intact.
d) the suspense is not revealed.
When is the Tarnetar Fair is held?
a) Aug-Sept b) Sept-Oct
c) June-July d) Oct-Nov
Who was Ignesious?
a) Policeman b) Author
c) Manager c) Student

Who is attracted by science and modern knowledge?
a) Tipu Sultan b) Peshwa Nana Saheb
c¢) Azimulla Khan d) Ram Mohan Roy




(B) Write the meaning of the following words: (0.5x6=3)
1. Hustle 2. Assistance 3. Starlit
4. Cello 5. Surge 6. Unison
Fill in the blanks with appropriate words: (1x7=7)
1.  is the writer of the lesson “The Best Christmas Present in the
World”.
____1s the Tilly Smiths’s mother.
women performs Rahado.
. Five years ago there was a restaurant called
The narrator usesthe ~~ to save himself.
William Sydney porter, better known with his pen name
7. 1is the favourite writer of Hans Wollf.
State whether the following statements are “True” or “False”: (0.5x6=3)
Bob and Jimmy are going to meet after 30 years.
The writer found a small blue tin box in the secret drawer.
Sanjeev was a policeman, serving in the Katchall Island.
The Tarnetar fair is held 8 km from the town of Thangadh.
Lord Macaulay suggested to teach natives English Language.
In tsunami 1,50,000 animals died.
(E) Match the following with the correct options:
A B
1- Foul a) Stupid
2- Muddled b) Manner less
3- Porter c¢) Confused
4- Potential d) Greatly shocked

5- Traumatised e) Gatekeeper

6- Halfwit f) Capability




Q.2 (A) Make sentences of the following words:
1. Loyal 2. Impressive
4. Refuge 5. Suspense
Unravel (spell them correctly) the jumbled words from the bracket and fill
in the blank with suitable words: (1x3=3)

Many foreigners who visit Gujarat, shop for clothes and

jwellery. (tniceh)
Let’s train these students well, for they are our leaders. (aeptnliot)

Each one’s fingerprints are . (qinueu)

SECTION-B (SUBJECTIVE)
Write the character sketch of “Jimmy”. (3x1=3)

Write the survival story of Meghna and Almas Javed. (3x1=3)

Answer the following questions in brief: (1x3=3)

1.  Which are the two oppressive policies of the Britishers?

2. In many ways the Tarnetar fair is a typical village fair. How far is this true?

3. How did the poet know that the lady had seen the play earlier?

Answer the following questions in detail: (2x3=6)
1. Mention the various ways in which the British and the German soldiers
become friends and find things in common at Christmas.
‘Between meets’ — Which are the two different occasions when Bob and
Jimmy met?
Explain why the comment is made.... ‘Time had come to a dead stop in my

world’.




(E) Answer the following questions in one word:
1.  Who did Connie Macpherson think her visitor was?
When did Tsunami hit Thailand and parts of India?

Give two examples of social practices prevailing from 1765 to 18367

2
3
4.  Who had written the letter, to whom and when?
5

Who initiated the custom of embroidering umbrellas?

Q.4 (A) Write reference to context :
1. “Iam from Dusseldorf. I play the cello in the orchestra”.

2. “It sometimes changes a good man into a bad man.”

(B) Explain the following stanza (any one):
And you are not a friend of his,
If you keep shouting who it is.
OR
In fact, to make my meaning plain,

I trust, you will not speak again.

(C) Complete the following stanza:

The actors in them just before.




SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)
SUBJECT: ENGLISH GRAMMAR

STD : VIII MARKS: 60
DATE : 16-10-2024 TIME: 2.00 hrs.

INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION-A (OBJECTIVE)
Q-1 (A) Create adverbs: (0.5x 6=3)
1. angry . sad
3.  heavy . ready
5.  stupid . probable

Q-1 (B) Fill in the blanks with appropriate prepositions. (1x 5=5)

1.  Heena is very comfortable the proposal.

If you don't exercise, your body will become deficient many minerals.

Two weeks are sufficient the preparation of the dance.

In comparison Khan Market, the prices of goods are cheaper here.

My teacher is very satisfied my progress.

Fill In the gaps with subordinating conjunctions. (1x5=5)

1.  Gogo will talk to his mother he has mailed this assignment.

You cannot go out to play you clear the mess in your room.

2
3. You must work diligently you want to succeed in life.
4

Uma has to go to Canada for a couple of months every year

She is a citizen of Canada too.

This is the resort we stayed on our last trip to Udaipur.

Fill in the gaps with the anagrams of the words given in the brackets.

1.  Akshay was found (glen pies) behind the sofa.

Thanks for (bag kin) a cake especially for me.

He collided with a person (lag knit) on the phone.

(and pink pig) is a crime.

Would you mind (gist hunt) the window? It is very cold today.




Q-2 (B) Fillin the gaps with suitable modal auxiliaries. (0.5x 10=5)

1.

The authorities do something about the open drains in our locality.

(should, will)

As you sow so you reap. (shall, can )

I not tolerate the heat in Delhi during the months of May and June.

(shall, can)

If you use the hair dryer in the shower, you get an electric shock.

(might, should)

you please shut the window? The drought of cold air will make

me sick. (will, should)

Rajan and Aparna celebrate their wedding anniversary at a Thai

restaurant in the city. (will, should )

Tanmay not be so rash in his behaviour. (should, can)

You order food from this website while you are travelling by train.
(can, must)
I was using the calculator a minute ago. It be somewhere here. (can, must)

Sunil have started saving money years ago. (should, will)

Fill in the gaps with suitable determiners. (1x5=5)

1.
2.
3.

There are people at the railway platform. How crowded it is!

There is a bag on the table in the next room bag is mine.

shop did you buy the present from?

Don't ride the bicycle too fast. There is traffic on the road.

More than the grain was destroyed due to the heavy rain.

Indicate whether the word in bold is acting as an adjective or an adverb in each of these

sentences. (1x2=2)

1.
2.

The blade of this knife is sharp.

If you walk fast, you'll reach there in ten minutes.




SECTION-B (SUBJECTIVE)

Rearrange the words to form meaningful sentences. Underline the determiners. (1x4=4)
1. there/too/sugar/ the/ much/ is/ milk/in

2. Diwali/every/ was/a/on /customer/gift/ given

3. this/sells/kebabs/ in/shop/best/ the/ town

4.  because/ the/ few/on/ there/ of/ are/ fog/people/ road

Rewrite these sentences using the modals verb given in the brackets.

1)  Advise your friend to lose weight. (must)

2)  Itis advisable to wear a seat belt while driving. (ought to)

3)  Request your friend to lend you his social studies notebook. (can)

4) It 1is certain that the train leaves at six. (will)

Rewrite these sentences in the past tense.

1. The vendor sells a bowl of noodles for Rs 80.
2. Shikha puts the coins into her piggy bank..

3. Does she drive a car?

Join each pair of sentences using the correlative conjunctions given in the brackets.
(1x3=3)
Mrs. Malini started making puris. Her children clamoured around for the puris.

(hardly...when)
They will invite friends. They will invite relatives. (not only...but also)

The guests can be taken to Bukhara restaurant for lunch. They can be taken to Mughal
Era restaurant for lunch. (either...or)

Write an essay on any one topic in 200 to 250 words. (4X1=4)
1. Childhood Memories
2. Importance of Books in Our Life.

Write a letter to the manager of a chemical factory about how the factory is polluting
the nearby environment. 3X1=3)

You found some money in the school playground yesterday. Write a notice informing
the students of the same and request that the person who has lost it collect it from the
vice principal. 3X1=3)




Q-5 (C) Read the following passage carefully and answers the questions given below: (1x4=4)
An Ant nimbly running about in the sunshine in search of food came across a Chrysalis
that was very near its time of change. The Chrysalis moved its tail, and thus attracted the
attention of the Ant, who then saw for the first time that it was alive. "Poor, pitiable animal!"
cried the Ant disdainfully. "What a sad fate is yours! While I can run hither and thither, at my
pleasure, and, if I wish, ascend the tallest tree, you lie imprisoned here in your shell, with
power only to move a joint or two of your scaly tail." The Chrysalis heard all this, but did not
try to make any reply. A few days after, when the Ant passed that way again, nothing but the
shell remained. Wondering what had become of its contents, he felt himself suddenly shaded
and fanned by the gorgeous wings of a beautiful Butterfly. "Behold in me," said the Butterfly,
"your much- pitied friend! Boast now of your powers to run and climb as long as you can get
me to listen." So saying, the Butterfly rose in the air, and, borne along and aloft on the
summer breeze, was soon lost to the sight of the Ant forever.
-Aesop's Fables

Questions

Give a suitable title to the passage.

What made the Ant pity the Chrysalis?

1
2
3. When the Ant saw the Chrysalis again, what had happened to the latter?
4

Write antonyms of the following words from the passage?

a. weakness b. release

Describe the picture given below in your own words.




SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)
SUBJECT: SCIENCE
STD : VIII MARKS: 60

DATE : 19-10-2024 TIME: 2.00 hrs.
INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION- A [OBJECTIVE]
Q1. [A] Choose the correct option. [0.5x10=5]

1.  What is the colour of the innermost region of the candle flame?
a) Blue b) Yellow c) Orange d) Black
Which of the following is a fungus?
a) Spyrogira b) Penicillium c) Lactobacillus d) Amoeba
In hen which type of fertilisation takes place?
a) Internal b) External c¢) Budding d) Binary fission
Who discovered the vaccine for small pox?
a) Edward Jenner b) Alexander Fleming
c) Louis Pasteur d) Robert Koch
Which of the following is not necessary for combustion?
a) Oxygen b) Combustible substance
c) Ignition temperature d) Water
Which of the following is a bacterial disease?
a) Cholera b) Polio ¢) Ringworm d) Malaria
Which of the following is not used for food preservation?

a) Salt b) Sugar c) Oil d) Water

Which of the following is a non-combustible substance?

a) Paper b) Match sticks c) Petrol d) Stone

Which species are recorded in Red Data Book?
a) Extinct b) Endemic c¢) Endangered d) Wild
The level of which increases in the atmosphere because of deforestation?

a) CO b) Na c) Oz d) H.O




[B] State whether the following statements are true or false. Correct the false
statements. [1x5=5]
1.  Most common carriers of communicable diseases are housefly.

2 Combustion produces heat.
3 Burning of coal causes pollution.
4.  Endemic species are found only in a particular area.
5 External fertilisation takes place in frog.
Match the following. [0.5x8=4]
1.  Rhizobium a) Clone
Lactobacillus b) Ova
Calorific Value c) Tiger
Endangered animal d) Kilojoule per Kg

Dolly f) Fixing of nitrogen

Charcoal g) Female Anopheles mosquito

2
3
4
5. Ovary e) Setting of curd
6
7
8

Malaria h) Solid fuel
Fill in the blanks.

1.  Sperms are produced in

There is/are nucleus in zygote.

Species which have vanished are called species.

The carrier of dengue virus is

2

3

4.  Variety of plants and animals found in an area is called
5

6.  Alcohol is produced with the help of

Write two names of each of the following.

1.  Plant diseases caused by microorganisms
2. Fuels having high calorific value

3. Fauna of Pachmarhi biosphere reserve

4.  Names of National parks
5

Names of antibiotics




Define the following.
1.  Ecosystem . External fertilisation
3. Communicable diseases 4.  Ignition temperature

5. Acid rain

SECTION-B [SUBJECTIVE]

Give scientific reasons for the following.

1.  Deforestation leads to desertification.

2. Water is not used to control fires involving electrical appliances.
Write the difference between
1.  Oviparous animals and Viviparous animals

2. LPG and Wood

3.  Budding and Binary fission

Answer the following. (ANY 4)

1.  Why should paper be saved?

What do you understand by the term migration?

What are the major groups of microorganisms?

2
3.  How COazis able to control fire?
4
5

Name the organs of Female reproductive system.
Answer in detail. (ANY 2)

1.  Discuss the effects of deforestation on
1) Wildlife 2) Environment 3) Earth
2. Explain the three types of combustion.

3. Write how microorganisms are useful and harmful.
Write a short note on

Endangered animals Global Warming




Draw and label the life cycle of frog.

Write an activity to prove that attaining ignition temperature is essential for

combustion. [3x1=3]

Complete the Nitrogen Cycle by drawing and labelling the missing parts. [2x1=2]

AN

Atmospheric Nitrogen

uptake by Animals
plants eat plants

b

\

Bacteria
Fix Nitrogen

into Nitrogenous Compound of
compounds Nitrogen in the Soil




SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)
SUBJECT: MATHEMATICS
STD : VIII MARKS: 60
DATE : 21-10-2024 TIME: 2.00 hrs.
INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION-A [OBJECTIVE]
Q-1 (A) Choose the correct option. [0.5 x 10 =5]

1. __ isaregular polygon.
(a) Pentagon (b) Square (c) Triangle (d) Trapezium
The diagonals of a rectangle are of length.
(a) equal (b) double (c) half (d) different
Which of the following is a regular polygon ?
(a) Rhombus (b) rectangle (c) square (d) kite
The adjacent angles of parallelogram are
(a) complementary(b) supplementary  (c) obtuse (d) acute

The total angle at the centre of a circle is

(a) 90° (b) 180° (c) 360° (d) 45°

How much is the probability of getting a Tail on tossing a coin

(a) = (b) 5 (©)= ()=

Sum of all interior angles of a polygon with (n) sides is given by:

(a)(n—2) x180° (b)n—2 x180° (c)(n+2)x180° (d)yn+2x180°
Which graph represents the two sets of data simultaneously?

(a) Pictograph (b) Bar Graph

(c) Double Bar Graph (d) None of these

The cube of 50 will have _ zeros.

(a) one (b) two (c) three (d) four

How many zeros will be there in the cube root of 640007

()3 (b) 0 (©) 1 (d)2




(B) Fillin the blanks. (Show calculation where necessary) [1x10=10]

1.

2
3
4.
5

A number has 4 in the unit place, then its square ends in
The cube of root of 121 is
Sum of first 10 odd natural numbers is
A number ending with zeros cannot be a perfect cube.
1s the smallest number by which 16 must be multiplied to obtain a

perfect cube.
A graph shows the relationship between a whole and its part.
The probability of getting ‘T’ font ‘TIT FOR TAT’ is
Data mostly available to us in an unorganized form is called

quadrilaterals have no portion of their diagonals in their exterior.

Cube of a number ending 3 will end in the digit

State whether the following statements are true or false. Also correct the incorrect

[u—

2.
3.
4.
5.
6.
7.
8.
9.

_
S

statement [1x10=10]
Square root of 1000 is 10.

A Rhombus is a square.

The square of even number is always even.

No perfect square number lies between 121 and 144.

Square of 84 has 4 at units place.

The cube of odd number is even.

125 1s a perfect cube number

The probability of getting a vowel from the word ‘pygmy’ is 0

The square of even number is always even.

The probability of getting a prime number is the not equal as that of a composite

number in a throwof dice.

(B) Do as directed: (Any Five) [1x5=5]

1.

What is Concave Polygon?

Find the number of Diagonal of Octagon.

Express 121 as sum of 11 odd numbers.

Find the square root of 324 by Prime Factorization Method.
Find the square root of 25 by repeated subtraction method.
Find the square of 32.

Find the non-square numbers between 242 and 252,




SECTION-B [SUBJECTIVE]

Q-3 (A) Do as directed: (With calculation) (Any Six)

1.
2.
3.

8.

Write the properties of the Rhombus.

Find the Pythagorean Triplet of 16.

Find the square root of 4096 by Long Division Method.

Find the cube root of 8000 by prime factorization method.

Find the smallest number by which 252 be multiplied to make it a perfect Square.

Find the smallest number by which 1008 must be divided to obtain a perfect cube.

Find the number of sides of a regular polygon having each exterior angle has a measure
45°.

Find the Length of a square whose area is 441 m? ?

Solve the following: (Any Three) [3x3=9]

1.

Number 1 to 10 are written on ten separate slips (one number on one slip, kept in
a box and mixedwell. One slip is chosen from the box without looking into it.
What is the probability of ?

a)  Getting a number 6

b)  Getting a number less than 6

c¢)  Getting a number greater than 6

If ABCD is a parallelogram and one of the interior angle is 65°, then find the

measure of all other angles.

Find the least number that must be added to 1300 so as to get a perfect square.
Also find the squarefoot of the perfect square ?

There are 500 children in a school. For a P.T drill they have to stand in such a
manner that the number of rows is equal to number of columns. How many
children would be left out in this arrangement ?

If you have a spinning wheel with 3 green sectors, 1 blue sector and 1 red sector,
what is the probability of getting a green sector? What is the probability of

getting a non-blue sector ?




Q-4 (A) Draw a pie chart showing the following information. The table shows the colours

preferred by a group of people: [Show necessary Calculation] [Sx1=5]

Colours Blue Green Red Yellow
Number of people 18 9 6 3

The following data gives the information about the absent students of Grade VIII

in rainy days. Answer the following question based on the data given in the table.

[4x1=4]

Day of
the Week

Tuesday | Wednesday | Thursday Saturday

Number

of

Absentees

On which day Maximum students were absent?
On which day Minimum students were absent?

What percent students were absent on Saturday?

What percent Students were absent on Monday?

kkok




SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)

SUBJECT: SOCIAL SCIENCE
STD : VIII MARKS: 60
DATE : 18-10-2024 TIME: 2.00 hrs.
INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION - A (OBJECTIVE)
Q-1 (A) Choose the correct answers from the given options (0.5x10=5)
1.  Which minerals are mined at Jharia, Dhanbad and Bokaro?
(a) Copper (b) Crude oil (c) Coal
Which of the following is a modern farming method?
(a) Plantation farming (b) Intensive farming  (c) Jhoom farming
Who is the Supreme Commander of the Armed Forces of our country?
(a) President (b) Prime Minister (c) Governor
With what does the Constitution of India start?
(a) Fundamental Duties (b) Fundamental Rights (c) Preamble
Who was the pioneer of the Ryotwari revenue system?
(a) Holt Mackenzie (b) Thomas Munro (c) Lord Cornwallis
In which area of South Bihar was the effect of the ‘Ulgulan Revolt’ seen?
(a) Chhota Nagpur (b) Hazaribagh (c) Central India
Indigo is an important commercial crop of which Indian region?
(a) South India (b) East India (c) West India
The person who merged many states in to the British empire through the ‘Doctrine’
of Lapse’ (Khalsa policy)
(a) Dalhousie (b) Lord Wellesley (c) Lord William Bentinck

On which day was Mangal Pandey hanged?

(a) On 315 March, 1857 (b) On 8" April, 1857 (c) On 10" May, 1857

Who established the first cotton mill in Gujarat?

(a) Ranchhodlal Rentiawala (b) Bechardas Lashkari (c¢) Ambalal sarabhai




(B) State whether the following statements are True or false (0.5x8=4)
1. The highest production of Groundnut in Gujarat is done in Surendranagar district.

Uttar Pradesh ranks second in the production of Bio-gas.
There were many revolts by farmers in Bengal due to the Permanent Settlement
system.
The British wanted to make India the institution of raw material and the market for
the finished goods.
The War of Independence of 1857 AD had spread all over India.
The British constructed New Delhi in the region of Raisin Hills to the North of Old
Delhi.
Dr. Radhakrishnan was the President of the Constituent Assembly.
The candidate for the Lok-Sabha membership should be a salaried employee of the
Government.
Fill in the blanks (1x8=8)
1. By the end of 19" century, the British established their power over the raw
which was exported from India.
undertook the leadership of the War of Independence in Lucknow.
During the period, Surat had developed as an important commercial
centre of the Western India.
A group of windmills is called a
1s important and staple (major) food crop of India as well as of the world.
irrigation is a type of the micro-irrigation method.

1s fundamental document of each country.

8.  The President submits his/her resignation to the .
Q-2 (A) Match the following (0.5X8=4)
A B

President of the Constituent Assembly a) Mica

Constitutional Head of the Nation b) Lime Stone

Member of the Parliament c) The first Iron and
Steel Industry

Cement d) Kunwar Singh

Electrical equipment e) President

First Martyr of the first war of Independence of 1857 ) M.P

Leader of The first war of Independence from Bihar g) Dr. Rajendra Prasad

Sakchi (Jamshedpur) h) Mangal Pandey




(B) Answer in one word (0.5x6=3)
1.  Between which two cities in India was the first Railway line started?
Which products the British commercialized?

Which policy was adopted by the British to break Hindu-Muslim unity in India?

By which name is the Black Soil called?

2
3
4. What can be obtained through biogas?
5
6

What age is required to be eligible for being a member of Lok-Sabha?
Define the following terms (Any four) (1x4=4)
1. Minerals 2. Non Metallic Minerals
3. Wet Framing 4.  Plantation Farming (Horticulture)
5. Constitution
Identify me (1x2=2)
1. I was known as the Chief architect of the constitution.
2. I can dismiss the State Council of Ministers and impose ‘Presidential Rule’ in the

state.

SECTION-B (SUBJECTIVE)

Answer the following questions in one or two sentences each (any eight) (1x8=8)
1.  Who introduced the Mahalwari System? When?
2. What can be considered as the main reason for failure of the First War of
Independence of 1857 AD?
Where did the first textile mill start in India?
Where are the active wind farms located in Gujarat?
Why is the laterite soil less fertile?
Which are the major crude oil producing fields in India?
Which persons does the President appoint?
When was the Constitution implemented?

How many seats are allotted to Gujarat in the Lok-Sabha and Rajya-Sabha?




(B) Answer the following in brief (Any Four)
1.  Write any four functions of Lok-Sabha.
What fundamental rights are given to the citizens of India?
What are the main crops grown in Gujarat?
How can it be said that it is wise to reduce the use of fossil fuels in future?
What were the provisions of the Permanent Settlement System?
State economic reasons for the War of Independence of 1857 AD.(Write three
Points)
Give Reason (Any four) (1.5x4=6)
1.  Why was the demand for Indian indigo increased in the European countries?
Why was Indian soldiers refused to use Enfield riffles?
Ahmedabad was known as the ‘Manchester’ of India.
The excessive use of chemical fertilizers and pesticides is harmful.
The Rajya-Sabha is a Permanent house.
Write short notes on the following (Any two)
1. Birsa Munda
2. Alluvial Soil
3. The Parliament
Mark the following places on the map of India (0.5x4=2)
1) Show any two state where Uranium and Thorium is found
2) Show any two states where Copper is found.
3) Show any two states where Iron is found.

4) Show any two states producing Rice in India

(B) Write a connected description based on the picture given below
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SUBJECT: HINDI
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INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION-A (OBJECTIVE)
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(@) feafaf@a Rea et i qfd fifaw |
(2) 3f. HolFST o TEF FARIASG AT d& 1 Jgs H9eir
AETH 4 QU AT § |
qacHA & ar &1 a1 ar |
gAY & ¢ & |
(¥) rbdelr ATHE CET & T A |

(®) frafaf@a g Fi9 F Fga § _/@AT | (3x8=%)
(?) "¢ ! RNPAR JA dUlaeT & A%y g ITROT FA W@r g f5wd geen
Fol &N oAlST ST 81 Tg o hIg 3= o1 +7gT § I
(k) "ET AY AT & A A G @ FEler |7
(3) "g9 W@ AAL... g R faw gl
(8) “3oT ERT & AT YAl GaA: g7 fAAToT Ao |°




SECTION-B (OBJECTIVE)

7.y (31 @ yeal & 3@ frar @ @ |
(2) 3faRer@m=T & fhE R @I HREHel T § ?
() suuel H gH fhg HINT & JHET ot AIigT ? &4t ?
(3) ‘AT | S TH Fgr ST & ATUR U 39deT 1 er Har off 2
(¥) ST HollH o 39 TUY HI Dled W VGIR Tea G5 ?
fAmfaf@a meat F ) e af g # fAf@v |
(2) FAAT T SNYST F 3T AT Pl 3TAT ?
(k) AT & FEET ol T o &1 H0T Ferr ?
(3) Wavauﬁaﬁgctmﬂ?ramamwm?
(¥) A S HERE gl W1 TG & ?
(9) Gl el THYT ek 3AReT & @ Y ?
(€) tl?}g@ﬁé‘@gm SITET IIe; I§ ST & 2 F4i?

YT AAGHS H9T F AEfFa F1 AaHaT d@a AT |

fe@rera qarr  aia gderor fRAfaw w1 3 R ST wT R
30 vy & gEar awT AfFw |

wfoa afsA @ & awaar gT dercd § , gieed # WA q IS HIE B 39
ﬁwwmﬁgcwﬁﬁv | (2x3=3)
3ryar

ffT 71T AR F HUR W FEA  A@A RIAT |

T Mg - Uil & Ulel T GHEAT - gT-gX & Uledl ol - Fafl wrene -
THT T NS - AR Heeld # AT - @l el dhaol Teh AT &1 H1H A
SJeel - YRR Tk U HT T AR G Agold A - dled H GeTg AT &
fear ST SIRer -arend & s O 3R e




q.-& (31) ReAfaf@ e geat AT & 39w Af@v | (2x¥=%)

gell & AT P IAD AT ?%Iﬁmﬁﬁ?—ﬁﬁmwm%%

I o geohrer A geT IS AT H 3l F1 fAAor a8 Saa Awa @6

TAEYY TSt B § AR Foe ey ag oW ¥ 7 PR Iwd 76 @ 9

gell @ TI9HA HT FAFAT I § | U H FolAdrel I AR S garsit & JaT g

HIST &1 8T A ¢ | gall & & aeieh el hl g el fob 3wfer gree ghar g

gel & §H K & el TAELIYCE fdeif@eT wied g1 8 | gal @ §H Ao T

o Ao § o @ o o 3w -aferd o docdl & | 9ol & 9wl 3R &I w7

- AT YV geal gl W IRd 8 .9 A 93 o & e 39l @ & §9 &
weT T ST ¥ |

qd & ghrer A oA HerdloleT 1 fFHATOr FHar g 2

&l & g @ & Herdr § 2

Fld W DT AT A a3 T & a1g 396N @ & & H gAT & fav
AT g ?

ITEGTY A I e GifST)

(¥) PRfEaRvr & @ Fl e fyg W 90 gsal & Aey d@a fivw
(2xy=y)

(?) 3Hoshdl H Tehd
() Siael # AT FT Aged




SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)

SUBJECT: GUJARATI
STD : VIII MARKS: 60
DATE : 17-10-2024 TIME: 2.00 hrs.
INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION — A (OBJECTIVE)
Y1 (1) ollAell usllollell ol AL [@Qscuiadl 0l dvll. (0.4 x20= )

(1) “HRL AU ALYall © Wsetl Ause] olld g B ?

() A dlos €£Q (o) ycllol €3%

(5) &3lal allaus (s) 3ot Ut

‘o3l UMl sl UsiR ol s © ?

(AU) slRASA (W) (QHa sal  (5) olad sl (s)eotal@st

HuH{l 3 W B?

(AU) WY (o) Hdold (5) 55l (5) 1l

HOLooll SIs2al 9f sdcllA?

(A) sHlAl®Re (o) QAR

(5) RARR2 (s) ASlAR
(W) ollal 9 dsld &d?

(A) ollnsl (o) ue{lA (5) sl (5) ugAl
(s) oll 3ectl arle{l sl ?

(W) BBIR (0l) YER (5) uAlu (5) UAlAR
(9) oll A2A GrlloL

()%l (ol) A8l (5) EHER SBERE
(¢) “HURl cAAUHFUUAHL Awsal 9 scloll WA dl?

(W) 5Ud (ol) alUet (5) Qulat () uilcltoll
(¢) oRRE HEIAURA cWdl lsAdlldal 9 sdaua?

(A) UE (o) Uell (5) allct (s) QA
(10) otR@e HAL sUl $SHI ollsall cll &cll?

(AU) ELNER () AYll (5) dlol () %Yol




(o) o(lA WAL A€l Yuldlal el

(1) slual (2) AM (3) otollrg

(¥) Ll (W) RAcll (s) sleg
() o(lA AAAL AcEletl e vl

(1) s4c () WRaa (3) sl

(%) X (W) HwR (s)
(s) (1A WAL 20Elell (AAL w18l cul.

(1) ol (R) dR&lR

(3) gdjal (¥) ol$ct

Y-2 () o{lA BAAL 2AcEledl A A E Al
(1) dEot - dEat
() R0L-22L

(@) olA WAL AE UYS M2 AS AGE AW,

(1) s adat alg
() 2llatdatl Bal 201 alg
(3) Ad ARl AHA
(%) stHHl 1Al RéalR
(W) edl d3l¥ stH ALl Ol
() UCUHL dllcle] ;s Ysle] UE
(9) SUA HI2all clsstoll Al As Wi A
(¢) sUsx ¥ olls3l selR

U-3 () sled Ulsaa AR ol Aol clslHiell vl 2ot ASlal cull.

(1) 55 vidla $502 / stasll AsAL
() slsl / HIHL 8lAl HIRUG A L,
(3) Hisal WA HAsUe / Alerde Al .
(%) HAl &l el / eudes uReudl.
(w) S8l 1Rl Aollaw 7 WElole] ot cvl.
() HIZl Aol WHRAA / lloRAA oll ©1S B,

(W) AGESHHL 38R 53| cllsal A Yyl latlcl.,
(1) A 53 B HUdcllal UM e Yuedl .
(2) %ol ocll WS AU GriH HIA «1RRls dwalal.

(0.4 xS= 3)

(0.4 xS= 3)

(O x ¥ = ?)

(0.4 x¥=R)

(0.4 x ¢=Y¥)

(0.4 x $=3)

(0.Ux ¥=X)




(3) HIAUPDA Uil 531 YeR UElall &cll .
(¥) yuld yetlQal 8 Hedl oRRsatl vo.
o(lAotl AL 33Ul el Ul cllstMl wAloL $3U .
(1) i elloll us cll
() Rl Al .
(3) wiw yedl.
(¥) ot $adl .
o(lAell clsell SlaL A B A 58l
(1) 32 ol sl & UsSA ?
() A, dl WA KA(SARA 5855 UL 9 AL & ?
SECTION - B (SUBJECTIVE)
o(lA AL Uslloll Fcllol WS cllsAHL A
(1) Hdl Hurll 9 st s D ?
(2) dwlaet Al R[Re HEcl of UE Sl Wol AM?
(3) o] Wty 9 &]?
(%) Huwl vy saiell Asg 52 D ?
(W) Qul AUBSIHL Slal sRlcul?
(5) ‘YeLHRUR UL aiRRe H3AUA Sloll Aol clld 531 & 2
o(lAotl Usllotl scllet YEIUR cllsuMl cull. (Sl8uBl ol )
(1) olRRle HdAla e s(A 3u sall B ?
(2) WA U 5ol AA UuLcA B ? 2l H2
(3) ool Acllui eXau g 9 Holl % ?
(1A Al [An0Hiel 2 A As [AMA YR AR 100 AGEWHL [oltt Al
(A x ¥= ¥)
(1) AHAUG YA () Qg
AMIRL olloll U callUlHo] Heeel AMAtcddl UA dull (1 x ¥= ¥)
A3 uounl o Hlo{l Gosal w2 wUdale dull. (1 x 2= ?)
IRl SALRAUA 98t vl (1 x 2= ?)
o{lAetll tavisa il Uslloll wellel AL, (1 x ¥= ¥)
859 UY YO sdcAUAAM @G B. ¥ WU ol wUQl $% HAUR
wotclA Al AU o8l Ancal olg g2 o8l g Ud. %l AUUR(L $% olastcall ddIR
AUUA 651 W E1SIA dl A Yolsmell Hiss 925l o wal dell wen Faci usly
Azetl A el g2 ol g2 . Wdotall Yuat w3RaAUA Andalal &5 Bl UY-




Uulal 8. A2l & AW 85 HoRlal & Wal €38 &80l al Aol AdLAl §% W &5
UR eHAl U Al Aol ARAA Seu el Acoll o Slat 8. Al ualls wazu
UHlolcdla Al (3 Aal cddldl $%1 ol Sl MLl staal o @ HIRL vidl
ad s sl A 850 ANl $% B, W A AU s WL WALl usicll At 3
AUAESIR sl A 85 AUl Sl O,
usll

(1) &59f AU HO WHI ¥ B?

(R) % olxlcAl ddR &5 Won elscuedl 9 axu 8?2

(3) ®dotoll Yua A3RAUA Andclel &5 sl Sl B?

(¥) GUAAsc dlavisal 2o olds .

(5) ollA WA steanuilset ygl s2.

sl
(s) o(lA UG RA AN wW-uiA sl dvll.




SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)
SUBJECT: SANSKRIT
STD : VIII MARKS: 60

DATE : 22-10-2024 TIME: 2.00 hrs.
INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION - A (OBJECTIVE)
Q-1 (A) Tick the correct answers. (0.5X6=3)

1. dyan & RIed?
A. fAsee=Tq B. faae
HITA: e RIeT grea 31fed|
A RaET B. gty
ARACY Hfa SAfafaganfa afed?
A. TG B. TG
& w#H dqu: faggar

A. € B. chT

offelr FEam: & 31T

A. R8T B. Hfdram:

Tehored: fob GfSqH sTofd ¥ ?

A. 3reafacarH B. &relfdeame C. SToTIaeaTH D. defdearH

Q-1 (B) Write meanings of following words in English. (1X7=7)




Q-1 (C) Match the followings. (0.5X6=3)

yuurafa:
Jadata

Make sentences in SanskKrit: (1X7=7)

Write ‘ATH’ against the ‘right’ and ‘=T’ against the ‘wrong’ sentences : (0.5X4=2)

1. QIR Teholed®y RISTEIUT TR ] o AeFalic|

Teholcd: SITVHCHRT: Ycilehd 3TEd |

Tsholcy: SI01: FeFgied HGH 3HeTd|

Ay 9fd Tehoreae T seem fRfder o 3s7aq)|

Write the following numbers in Sanskrit words : (1X3=3)

Y 39

L& A




Q-2 (D) Fillin the blanks with appropriate words from the bracket: (0.5X6=3)

( Aeramet , AW, Shaw, @aMchR,  IEe,  dofrdl )

SECTION-B (SUBJECTIVE)

Write answers in Sanskrit: (1X6=6)

1. FgHA: w3

Teholed: Eelideal TiSqH HET FHIYH Tesd?
fem F7 Iesfar
F: CAA: TG EA?
ar & T
afadr gAY IRFN R agfar
Q-3 (B) Traslate the following sentences into Sanskrit : (1X4=4)
Rahul is going to Rajkot from Junagadh.
Harsha is going to Amreli from Junagadh.
Mira is going to Surat from Junagadh.

4.  Rahulis going to Ahmedabad from Bhavnagar.




Q-4 (A) Write translation of following paragraph: (1X6=6)
Teh: SToleh: 3TEIC| T8 #ATH Teholed: 3TN &: €e]{dean Jidsd# seoid

TH| Uehel &: QIR §HIYH 3ead, ded | “Ieed, 3gHA AT Geev:

HIIJH TOMA| FIAT A THS|” A Ycgded, "3 HRAE qvsde] o

US| 3E Had: ASTEIOT FhR o o AFATH|” W I 9 a7

e RTYer 7 3rHad|

Q-4 (B) Write translation of following shloka. (3X2=6)

1. edl aId &9 AT fad dr g

CIERIGCIR cg«mwﬂ?ﬁ fASeleaTtaaY ST | |

deal #IET R e a:

NCRCIG 3'|a:|’dlbi9’ld'||

HRAATT: AR

cerfgardy Share||

Q-4 (C) Complete the following shloka. (1X5=5)
TR Ao 1 S —— e |

Q-4 (D) Write your daily routine in Sanskrit.




